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* 5b—2 Fii REFE (22:13)
EBBS. 2E5> L—R 35 5 AR
B V. BF4. B o = 1% 25 iy
#. 8 ® @ @ @ 6 G- xE E EH BRE Y BHE HE £V
ARiR 66 4 2 5 7 61325 4 0/ 6.0 9.0 16.6 0| 3.42 3.495 3.48 5.54 3.577
2528 (MN—#) 42 0 1 1 3 3 10 24 0 0 0.0 2.3 47| 0| 342 3495 347 619  3.584
(zoft—#%)| 24 4 1 4 4 3 3 1 4 0 16.6 20.8 375| 0| 343  3.506] 349 441  3.563
1 =ith B 0| (ROMGH)|--
ne 26 0 1 4 0 2 2 710 O 0.0 3.8 19.2) 0| 3.42 3.482) 3.47 6.34 3.563
ARix 2588 R8I
497% PEZIN 9 0 0 2 3 1 0 1 2 O 0.0 0.0 22.2) 0| 3.47 3.505| 3.51 5.11 3.570
LLIE% 12 0 0 0 2 2 6 2 0 O 0.0 0.0 0.0/ 0] 3.41 3.468| 3.47 5.66 3.557
i 78 913 111112 9 8 5 0 11.5 28.2 42.3 1| 3.36 3.453| 3.41 4.12 3.514
2407 (MN—#) 49 3 9 6 7 8 9 7 0 0 6.1 24.4 36.7| 0| 336 3453] 339 428  3.505
(zoft—#%)| 24 6 3 5 4 4 0 1 1 0 25.0 37.5 58.3| 1| 336 3455 344 325  3.531
A Jllig ZE 10| ®ofte®)| 5 0o 1 0 0 0 0 0 4 0 0.0 20.0 2000 0/ 338 3481 340 6.80  3.520
ne 9 0 0 0 1 1 1 2 4 O 0.0 0.0 0.0/ 0] 3.38 3.494| 3.41 6.77 3.519
BRIz 2458 R8I 6 0 1 0 0 3 1 0 1 0 0.0 16.6 16.6/ 0 3.38 3.495 3.40 5.16 3.516
527i% PETIN i0o 0 0 1 2 3 1 1 2 O 0.0 0.0 10.0f 0| 3.37 3.487, 3.41 5.50 3.514
LB 16 0 1 1 0 4 5 2 3 O 0.0 6.2 12.5| 0| 3.36 3.439, 3.40 5.81 3.510
Al 949 1 100 00 3 0 444 555 66.6 0 3.42 3.460 3.46 3.66 3.528
1919 (MN—4#) 1 1 0 0 0O 0O 0O O 0 0 1000 1000  100.0/ Of 3.42 3460 342 1.00  3.460
(oft—#%)| 8 3 1 1 0 0 0 0 3 0 37.5 50.0 62.5| 0| 345 3511 346 4.00  3.537
N TIth —p% 10 ofiew)-
na
L5 1988 FREE 7 0 1 3 2 1 3 2 50 0.0 5.8 23.5| 0 3.37 3.451| 3.41 5.64 3.495
62i% PEZIN 9 2 1 1 0 2 0 1 2 O 22.2 33.3 44,4 0| 3.39 3.465 3.43 4.44 3.495
LB 63 14 7 10 6 8 9 4 5 O 22.2 33.3 49.2| 0| 3.34 3.416| 3.41 3.87 3.470
Al 6 0 01201110 0.0 0.0 16.6| 0 3.39 3.474 3.40 5.33 3.504
2417 (MN—EQ)
(oft—#%)| 3 0 0 0 1 0 0 1 1 0 0.0 0.0 0.0/ 0/ 340 3.506] 3.40 6.33  3.524
N R SH o0 (zotcH) 30 0 1 1 0 1 0 0 O 0.0 0.0 33.3) 0| 3.39 3474 340 433  3.483
nmea 10 3 3 0 0 O 0 3 O 30.0 60.0 60.0) 0| 3.32 3.387| 3.37 3.90 3.454
RAR 2458 AR
53i% AR 75 5 9 91312 710 9 1 6.6 18.6 30.6) 0| 3.34 3.410| 3.39 4.67 3.490
LLIE5 13 6 2 1 0 2 2 0 0 O 46.1 61.5 69.2) 1] 3.31 3.407, 3.36 2.69 3.441
AR 75 814 91911 7 5 2 0 10.6 29.3 41.3 0| 3.34 3.419 3.39 3.82 3.475
2715 (MN—#%) 47 3 6 6 15 6 6 5 0 0 6.3 19.1 319 0/ 334 3419 339 412  3.463
(zoft—h%)| 22 5 7 1 3 4 1 0 1 O 22.7 54.5 59.0/ 0| 334 3420 342 3.09  3.504
5 ¥MA 22 20 (oftcH) 6 0 1 2 1 1 0 0 1 0 0.0 16.6 50.0, 0| 3.36 3.448 3.38 4.16  3.459
ne i5 2 2 0 2 1 5 2 1 0 13.3 26.6 26.6/ 0| 3.34 3.416| 3.38 4.73 3.442
ERizx 275A FRERIG 4 0 0 0 1 2 0 0 1 O 0.0 0.0 0.0/ 0] 3.37 3.452| 3.38 5.50 3.462
477% R
LLIE5 27 2 3 2 3 6 2 2 O 7.4 18.5 25.9) 0| 3.34 3.408| 3.38 4.55 3.464
AR 46 8 12 12 3 2 2 4 3 0| 173 43.4 69.5 1 3.31 3.413 3.37 3.34 3.477
3604 (MN—#) 30 7 10 9 t 1 1 1 0 0 23.3 56.6 86.6| 1| 331 3413 335 253  3.454
(zofe—h%)| 16 1 2 3 2 1 1 3 3 0 6.2 18.7 375 0| 339 3481 341 487  3.520
REF B 30 (oftew) -
mea 9 1. 0 1.1 1 0 3 2 O 11.1 11.1 22.2) 0] 3.34 3.465 3.37 5.55 3.491
ERix 365A FRERIG 311 0 0 0 1 0 0 O 33.3 66.6 66.6) 0| 3.33 3.462| 3.35 3.00 3.470
25i% AR 3 0 0 0 0 0 0 2 1 O 0.0 0.0 0.0/ 0] 3.37 3.490| 3.38 7.33 3.499
L5 7 1 1 2 2 0 1 0 0 O 14.2 28.5 57.1] 1] 3.31 3.416| 3.36 3.28 3.460
AR 66 8211312 3 4 4 1 0 12.1 439 63.6 0| 3.31 3.381 3.36 3.21 3.452
3004 (MN—#)| 43 4 14 9 12 1 1 2 0 0 9.3 41.8 62.7| 0| 331 3381 334 3.06 3.434
(zoft—#%)| 17 3 5 3 0 1 2 2 1 0 17.6 47.0 64.7| 0| 333 3424 340 3.58  3.500
7 AW N 30 @ofte) 6 1 2 1 0 1 1 0 0 0 16.6 50.0 66.6) 0| 335 3.412| 337 3.6  3.450
mea 8 0 1 3 0 1 1 2 O O 0.0 12.5 50.0/ 0| 3.34 3.405 3.35 4.50 3.424
BRix 30HA fRZIE 7 0 0 40 10 1 10 0.0 0.0 57.1) 0| 3.34 3.412 3.34 4.57 3.438
417% AR 25 0 5 3 2 7 5 0 3 O 0.0 20.0 32.00 0| 3.33 3.422| 3.37 4.64 3.469
LB 16 0 4 2 6 2 1 1 0 O 0.0 25.0 37.5| 0| 3.32 3.405| 3.34 3.81 3.431
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BRES. 2ESY L—R BRI AR
# 7. 2T 5. R, # £ 25 3E B 5= Fi
#. 8 @ @ 5 ® @ W : Sp sE  EnY BE EE kA
AR 17 1. 0 1 0 2 3 9 1 0 5.8 58 11.7| 0 6.05
2528 (MN—#) 13 1 0 0 0 1 3 8 0 0 7.6 7.6 7.6/ 0 6.15
oft—#%) 4 0 0 1 0 1 0 1 1 0 0.0 0.0 25.0, 0 5.75
1 =ith B 0| (ROMGH)|-- o
e
Btz 2588 R8I -
497% AR 5 0 0 011 0 1 2 O 0.0 0.0 0.0 O 6.40
L5 5 0 0 0 01 3 1 0 O 0.0 0.0 0.0 O 6.00
ARix 22 0 0 1 3 2 6 550 0.0 0.0 45 0 6.18
2407 (MN—#) 14 0 0 1 2 1 6 4 0 0 0.0 0.0 71 0 5.71
(2Ot —A%) 5 0 0 0 1 1 0 1 2 0 0.0 0.0 0.0, 0 6.40
A g 2ZE 10 (zoftcH) 0 0 0 0.0 0.0 0.0, 0 8.00
ne 1 0 O 0 O 0 O 0.0 0.0 0.0 O 6.00
ERix 2458 R
527% AR 2 0 0 0 0 0 0 2 0 O 0.0 0.0 0.0 O 7.00
L5 4 0 0 0O O O 2 1 1 O 0.0 0.0 0.0 O 6.75
Al 3 00 01 01100 0.0 0.0 0.0 O 5.66
1919 (MN—#%) 3 0 0 0 1 0 1 1 0 O 0.0 0.0 0.0, 0 5.66
(ZDAt—AT) |-
<N IR —Bi 10 (ot
L5 1988 RERIE 1 0 1 0 0 0O O O OO 0.0 100.0 100.0| 0 2.00
6275% AR 0O 0 01 1 0 1 0 O 0.0 0.0 0.0 O 5.33
LB 21 2 1 0 4 3 7 4 0 O 9.5 14.2 14.2| O 5.00
Al 4 0 0 00 11110 0.0 0.0 0.0 O 6.50
2417 (MN—ﬂ’xl')
A_213 (MNGQ“Z) . . . . .
(zoft—#%)| 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0, 0 5.50
‘N R EH o0 (zofte) 2 0 0 0 0 0 © 0 0.0 0.0 0.0, 0 7.50
N
RAR 2458 AR
53i% AR 12 0 2 2 4 3 1 0 0 O 0.0 16.6 33.3] O 3.91
L5 5 0 0 1 0 4 0 0 O O 0.0 0.0 20.0) O 4.60
ARz 16 2 2 3 2 3 2 2 0 0 125 250 43.7 0 4.00
2715 (MN—#) 8 2 1 1 2 2 0 0 0 0 25.0 37.5 50.0/ 0 3.12
(Zoft—#%)| 3 0 1 0 0 0O 2 0 0 O 0.0 33.3 33.3) 0 4.66
5 ¥MA 22 20 (oftcH) 5 0 0 2 0 1 0 2 0 0 0.0 0.0 40.0/ 0 5.00
nmea 4 0 0 0.0 0.0 25.0 5.50
BRix 2758 AR
477% R
L5 6 1 0 2 O 16.6 16.6 33.3] O 4.83
Al 6 2 00 33.3 50.0 50.0 2.66
3604 (MN—4##) 5 2 0 0 40.0 60.0 60.0 2.40
(ZOft—A%) 1 0 0 o0 0.0 0.0 0.0 4.00
iﬁg} E 30 (ZOABGHER) | - e .
mea 1 0 0 O 0.0 0.0 0.0 4.00
AR 36HA REBIE
25i% AR 1 0 0 0 0 0 O 1 0 O 0.0 0.0 0.0 O 7.00
L5 3 2 0 1 0 0 0 0 0 O 66.6 66.6 100.0/ O 1.66
AR 18 1 2 3 4 3 5000 55 16.6 333 O 4.16
3004 (MN—#) 11 1 0 1 3 2 4 0 0 0 9.0 9.0 18.1] 0 4.54
(zoft—#%) 3 0 2 0 0 0 1 0 0 0.0 66.6 66.6| 0 3.33
7 AW N 30 @oftem)) 4 o 0o 2 1 1 0 0 0 0.0 0.0 50.0/ 0 3.75
mea 2 0 1 0 1 0 0 0 O 0.0 50.0 50.0/ O 3.00
BRix 30HA fRZIE 1 1.0 0000 O0O 100.0 100.0 100.0| O 1.00
417% AR 3 01 0 1 0 O 1 O 0.0 33.3 33.3] O 4.33
LB 5 3 1 1 0 0 0 0 O 60.0 80.0 100.0/ O 1.60
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BRES. 2ES L—R 155 AR
B V. BF4. B ¥ = 25 iy
R i @ ® @ & ® @ W g HE LY HE ER
Al 6 1. 0 00 1 2 2 0 0 16.6 16.6 16.6 0 5.33
2528 MN—#) 4 1 0 0 0O 0 2 1 0 0 25.0 25.0 250 0 5.00
oft—#%) 2 0 0 0 0 1 0 1 0 O 0.0 0.0 0.0 0 6.00
1=
ARix 2588 R8I
497% AR 4 0 0 0 0O O 0 2 2 O 0.0 0.0 0.0 O 7.50
LI
Al 11 0 0 1 0 1 5 3 1 0 0.0 00 90 O 6.09
2407 MN—#) 8 0 0 1 0 0 4 3 0 0 0.0 0.0 125/ 0 6.00
(Zoft—#%) 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0 0 5.50
A Jllim 2 10 @oftew) 1 0 0 0 0 0 0 0 0.0 0.0 0.0 0 8.00
1=
BRix 2458 R
527% AR 2 0 1 0 O 0 0 0 O 0.0 50.0 50.0/ O 3.50
L5 1 0 0 0 O 0 0 0 O 0.0 0.0 0.0 O 5.00
Al
1919 (MN—) |-
A-232 (MNGH#)| -
(ZDAt—AT) |-
<N frth —p% 10 (zotem) -
1w
LLB% 1984 AR
627% R
L5 4 0 1 0 1 1 0 1 0 O 0.0 25.0 25.00 0 4.50
Al
2417 (MN—#&)| -
A-213 (MNGH)| -
(ZDAt—A%) |-
ne 11 0 0 0 0O 0O 0O O O] 100.0 100.0 100.0f 1 1.00
RAR 2458 AR
53i% AR 7 0 2 2 2 1 0 0 0 O 0.0 28.5 57.1) 0 3.28
L5 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
AR i5 1. 2 3 2 41110 6.6 20.0 40.0 O 4.20
2715 (MN—#) 10 0 1 3 1 3 1 1 0 0 0.0 10.0 40.0, 0 4.30
(ZOf—%) 1 0 1 0 0 0 0 0 0 O 0.0 1000  100.0| 0 2.00
5 ¥AEZ 20 ®oftc®) 4 1 0 0 1 1 0 25.0 25.0 25.0, 0 4.50
ne O 0 0 0 0 1 0 O O 0.0 0.0 0.0 6.00
B 2754 AR
477% R
LI
Al 6 2 3 0001 00 O 333 833 833 0 2.33
3604 MN—#) 4 1 2 0 0 0 1 0 0 0 25.0 75.0 75.0/ 0 2.75
(oft—#%)| 2 1 1 0 0 0O 0 0 0 O 50.0  100.0  100.0| 0 1.50
iﬁg} E 30 (ROALGEK)| - e e . . .
mea 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
AR 36HA REBIE
257% R
L% 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
Azt 12 2 3 2 11 2 1 0 0 166 416 583 O 3.50
3004 MN—#) 5 1 1 1 0 1 1 0 0 0 20.0 40.0 60.0/ © 3.40
(oft—#%) 3 0 2 0 1 0 0 0 0 O 0.0 66.6 66.6| 0 2.66
7 AL N 30 @oftes) 4 1 0 1 1 0 0 25.0 25.0 50.0, 0 4.25
mea 2 0 0 0 O 0.0 0.0 0.0 O 4.50
AR 30HA REBIE
417% R
LB 1 0 0 1.0 0 0O O O O 0.0 0.0 100.00 O 3.00
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